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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
wero fa iR e fordt
(a) s production a basic economic activity?
TeAAre afdy o welttor I T ?

(b) What is capital accumulation?
e wizat < 2
(c) Define net domestic product.
WG T S ke o |
(d) What is aggregate demand function?

g i e R 2
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(2)

(e) Did Keynes support the classical theory
of employment?

c@2e(es Fransm iz e wgch Ava wffea 2
()’  Mention one limitation of Keynesian
consumption function.
BT (S5 TR @01 FAam el Teae o4 |
(g) Can marginal propensity to consume be
greater than one?
oifes ¢o151 4TS 9FSLE TIEq 2T (A 2
(h) What is average propensity to consume?
ST Co191 deerel 2

() What is investment?

fafercmst 6 2
(/) Define marginal efficiency of investment.
e anfes srfFrer ke fran |
2. Answer the following questions : 2x5=10
T 2T Ted o

(a) Distinguish between GDP and GNP.
GDP 9IIF GNP 3 &1 214 fiefa <41 |

(b) Mention two methods of measuring
national income.

B R ST K01 TS SCEd 41 |

(c) Define aggregate supply function and
draw the aggregate supply curve.

TP @ T e i S TS Qe
R A 41 |
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(3)

(d) Mention the technical attributes of
consumption function.

(T TR FRFA] BFTHR TCEY 41 |
(e) What is super-multiplier?
Tfeas™ &2
3. Answer any four from the following
questions : S5Sx4=20

weres fr 2pieR #1R1 R e oo T fere

(a) Explain the circular flow of income in a
two-sector economy.

% Sy w@ifs ede<T WET SR 2d1Z AT 40 |
(b) Explain the relationship between

national income and welfare.

2 A IF TANR IHS F2AE A F[40

(c) Explain the main point of difference
between the classical theory and the

Keynesian theory of employment.
frraeR AEre T8 9% @ TEE WEd
AR dar AT QL 4 o

(d) What factors affect the consumption
function? Explain.

& & IR (39 TP ASEIGS 27 QM
41 |

(e) What are the determinants of marginal
efficiency of capital? Explain.

AR s srfreer ez 6 &2 ama
1 |
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( 4)

() Explain the factors affecting the volume
of investment.

RfcaeE RN deafEe T FREHE R
1 |

4. Answer any four of the following questions :

10x4=40
oA ePTEd R @I BiRemE Tea ford
(a) Discuss the basic economic activities.
el LoD FRATZ TICEAGA F4T |
(b) Discuss the components of national
income.

AP WRE BAMETIR ST S |

(c) Discuss the Keynesian model of income
determination.

(P3P W FILReR SZCO1 SCeAm1 T4 |

(d) What is Keynesian consumption
function? Discuss.

(RO (B9 Fo 19 7 S 1 |

(e) Discuss critically the concept of
multiplier.

QP YIB! FACETA FZFICR AL 4 |

() Discuss the accelerator theory.
TIFT TGO AL 4] |
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22A—200/649 3 (Sem-1) ECO M 2 (O)



